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A- What is the magnitude of charge of the first capacitor C, and the second
capacitor C, when the potential difference between their plates is (8.0 Vv)?

On ) A 00 e € AW CiiSdlly Cp JoY) S (a 0S Aad sk L -

1(8.0 V) \agia IS ol
The magnitude of charge of capacitorC, .................... C, i) dial jlaia
The magnitude of charge of capacitorC, ................. C, i) dal \ada

B~ Calculate the capacitance of the capacitor C,.
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Question 2 |
Figure shows a cube with volume

Jiaa 4 0.001 M® aass Laga JS& i, |
0.001 m® in a uniform electric field & Can

, | ape E=3.0%107NJC phitia ilisqg |

E=3.0x10 “N/C that is perpendicular to e / 23 ,
| (sl Ayl 3o (gt |

the plane of one face of the cube. | (
E ' E :
= |

n

A- Calculate the electric flux passing though the left (dark) face of the cube.
fomsall (CSIA) ) dagl) jun S Alygs)) 38 aaal -

B-If a charge +3.2 pC is placed inside the cube, find the net electric flux
passing though the cube.

nlal e ) ) lygs 3B da ccasa) Jals +3.2 PC diadi gy a1y -
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According to_ the figure, if the magnitude of |
the electric potential produced by an

electric point charge g at point O is equal to
+9.0x107% V.
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A-Calculate the magnitude of charge ¢.
: g ) ke quaal - |
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{ B- Find the magnitude of the electric field at point O.

O il A Al pS)) Jlaal) Jlaka sy - |

C-If another point charge is placed at point O, does the magnitude of the |
electric field at point O change? Explain your answer.
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Question J___‘ 3 3&2 5aa gl) d,€

Figure shows the electric field lines of | GRS GOV S0 Sl S .oy
two point charges. | st

Eiw

[

A— What is the type of charge g; and charge g,?

¢ @y g Lalligy e -

B— If the magnitude of charge g, is equal to 6.0 uC, what is the magnitude of
charge g,?
gy Aald) ada Wb (6.0 HC) gyl @ Aiall) JJada (IS 1Y) —

C — Draw two lines on the above figure representing equipotential surfaces, one

of them surrounding the charge g; and the other surrounding the charge g,.
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